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Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.

Answer any seven out of ten.

What is typically the approximate barrier potential for a silicon P-N junction?
When forward biased, a zener acts like what kind of diode?

Give the difference between an LED schematic symbol and that of a regular
diode.

Define Light Emitting Diode (LED).

State the direction of current flow in P-N diode.

Give the approximate value of ripple factor of a half-wave rectifier without
filter.

State two applications of H- parameter.

Give the types of biasing for PN junction.

Give the symbol and structure of schottky diode.

List any four Applications of transistor.

Draw symbol, construction and characteristics of P-N junction diode.
OR
Draw full wave rectifier circuit with input-output voltage waveform.
Define working principle of photo diode. Draw symbol of photo diode.
OR
Define working principle of photo transistor and draw symbol ofit.
Give two points in comparison of schottky diode with conventional diode.
OR
Define zener break down. And draw VI characteristics of zener diode
Give working principle of LDR. Write two applications of LDR.
OR
Draw symbol of optocoupler. Why it is needed? Give any two application.

State the most commonly used transistor configuration. And give two reasons
for that.
OR
Define hybrid parameters. Write the voltage and current equation for hybrid
parameters
Draw voltage divider bias circuit for CE amplifier.
OR
Draw fixed bias circuit for CE amplifier.
Draw symbol, construction of NPN & PNP transistor.
OR
Draw CC configuration of a transistor with its output characteristics.
Give two point in Comparison of CE — CB Configuration.
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OR
Give two point in Comparison of CE — CC Configuration.

Give two Advantage and disadvantages of fixed bias circuit.
OR
Define heat sink. Write materials used for heat sink.
State condition for thermal stability. Define thermal runaway.
OR
For a certain BJT, B=50; Icpo=3pA, and Ic=1.2 mA. Find I and Ig.
Define load line. Give reason to fix the operating point in the middle of the
DC load line. Draw CE amplifier input-output characteristics.

Compare L filter and C filter. Give two points for each.
Differentiate series and shunt voltage regulator.

Give two limitations of using zener diode regulator.
Define filter. Write need of filter.
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